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Proc &£ % : lambda

e Proc DERK
ambda {|args| code }
ambda { code} Ik GAYANRY -1

% ruby -e 'p lambda {|v| v + 1}’
#<Proc:0xb7e1c870@-e:1>
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ProcOUH L: Proc#call

* lambda {|v|v *2 }.call(3) #=>6
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BRAREL: (BAYD)RDIEZRTEE

succ = lambda {|v|v+ 1}

0 succ.call(O) #=> 1
0 succ.call(1) H=> 2
0 succ.call(2) #=> 3
0 succ.call(1000) #=> 1001

defsucc(v)v+1end &EIFIEFRU
p succ(1l) #=>2
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» succ?2 = lambda {|v| succ.call(succ.call(v)) }

succ2.call(100) #=> 102
- OP' 101 101 102
succ " succ |
100 ~ succ 7102
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Proc Z{#>7c map
I def map(ary, f)

result =[]
I ary.each {|v|
result << f.call(v)

}

result
end
p map([1,2,3], lambda {|v|v * 2 }) #=>[2,4,6]
double = lambda {|v| v * 2 }
p map([1,2,3], double) #=>[2,4,6]
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I 70v71CL% map EDLLER

Prochik 7 avIhR

def map(ary, f) def map(ary)

I result = [] result = []
ary.each {|v| ary.each {|v|
result <<<oall(v)> result << yield(v)

} }
result result

end end

p map([1,2,3], p map([1,2,3]) {|v|

fambda {|v| v * 2 )%

v*2}
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counter =0 BEHNI AT I — L
countup = lambda { HRBFICERIND
counter += 1
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o countup.call #=>1
0 countup.call #=>2 : 5
0 countup.call #=> BV countup ' ~countup
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* var=10
countup = lambda {var +=1 }
doubleup = lambda { var *= 2 }
p countup.call #=> 11
o doubleup.call #=>22 var i
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minmax = lambda {|lary| # ary (7 Oy O0—HJL
sorted = ary.sort # sorted (7 Ovo0O—AHJL
[sorted[0], sorted[-1]]

J

p minmax.call([3,8,7]) #=> [3,8]
p sorted H=> T o— o p—
[3,8,7] ary=[35857] 3,8
] sorted=[3,7,8:J; |
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e v=1
p lambda {|v|v * 2 }.call(2) #=> 4
pV H=> 2

e v I& lambda YL REIICERN TWAODTIOYY

— NIV TR W

e call L7zBRF 2 THRID v ICRAINS

. Scheme #:& (Ruby LL4}) Tld v [& lambda
[ —73)1/4;73\%)0)’C%E=k/_ JCN




filter

def filter(ary, f) ary DO
result = [] HoOTEDE T

L) -
ary.each {|v| result << v if f.call(v) } )i
result

end n&YREVDZERYHET
def find_gt(n, ary) gtlv oty gtly

gt = lambda {|v| v > n} filter [ary, f, result

filter(ary, gt) find gt ary, n, gt

end

find_gt(7, [3,8,7])#=> [8]
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c HBAYYRT Proc ZERKL TGRYIZENTES
def succn(n)

lambda {|v| v+ n}

end

p succn(2).call(6)

#=> 8
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- def m(args) code end
- lambda {|args| code }
o MU LA=DNED
- m(args)
- proc.call(args)
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Proc Z={£->7- map

def map(ary, f)
result = []

ary.each {v| Array#each C
result << f.calllv) s gwssafE-tuw2

]

result
end
double = lambda {|v| v * 2 }
p map([1,2], double) #=>[2,4]
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I break
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 ARGF.each {|line|
break if /~ END S/ ="line
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def m Y
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I return

e return XAV YRMSDRREH
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« def mult(ary) # ary DEZRZTANENTTIRY
result = 1
ary.each {|v|
return 0 ifv==0 # O AL Ho>7=6ERIZ0
result *=v
]
result
end
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« def m(&b)
p b.call(10)

end
milvlv+2} #=>12
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« EF|HDHKRED & DEF|ET.Proc 27
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e defm
p yield(20)
end
succ = lambda {|lv|v+ 1}

m(&succ) #=> 21
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o defm
p yield(10)

end
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def n(&b)
m(&b)

end

n{lvlv*2} #=> 20
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break FcH ¥ H>TL3S

« def m(&b)
b
end
m{p 1; break }.call
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» def m(&b)

b
end

def n

m{p1; return}

end
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« def treefind(ary) ... end
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treefind D E/EHI

o treefind([1,2,3,4]) {IvV|lv% 3 ==2 } #=> 2
» treefind([[1,2],[3,[4,5]],6]) {v|v% 3 ==2}
H=> 2
e treefind(
["ru by", Ilperllll "python", "php", Illispll]) {|V|
/~p/ ="V}
#=> Ilperlll
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def treefind(ary)

a = ary.flatten.find_all {|v| yield v }
a.empty? ? nil : a[O]
end
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test-treefind.rb

test-treefind.rb IC treefind D EZZE XA
ZITL. KD O ICRBETHAIILS

% ruby test-treefind.rb

Loaded suite test-treefind

Started

A=y TFAMNE

rnll

Finished in 0.000517 seconds.

2 tests, 4 assertions, O failures, O errors
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